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Bap. (Cxeval e o | Q| o] O

1. 1| Kyel(jiow)=U. /T | 12 20 0,1...0,11
2. 1 Kic(jo)=1c/1 9 22 0,11...0,12
3, 1 K, (jo)=U_/I 11 23 0,13...0,14
4. 1 K, (jo)=1_/1 8 26 0,15...0,16
5, 1 | Kypl(j@)=Ug /T | 10 28 0,17 ... 0,18
6. 1| Kip(jo)=1g,/I 7 30 0,19 ... 0,20
7. 2 Ky (jow)=U_/I 12 31 021 ...022
8. 2 K, (jo)=1./I 9 33 0,23 ...0,24
9, 2 | Kye(jo)=U./I 11 35 0,25 ... 0,26
10. | 2 K(jo)=1./I 8 37 0,27 ... 0,28
1. | 2 | Kyp(iow)=Ug/T | 10 39 0,29 ... 0,30
12. | 2 | Kplio)=1/I 7 41 031 ...032
13. | 3 K, (jo)=1/E 12 20 0,33 ... 0,34
4. | 3 | K, (jo)=U_/E 9 22 0,35 ... 0,36
15. | 3 K, (jo)=1./E 11 23 0,37 ... 0,38
16. | 3 | Kyc(jw)=U./E 8 26 0,39 ... 0,40
17. | 3 | K(jo)=1n/E | 10 28 0,41 ... 0,42
18. | 3 | Kyn(i®w)=Ugy/E | 7 30 0,43 ... 0,44
19. | 4 K.(jo)=1./E 12 31 0,45 ... 0,46
20. | 4 | Kyo(jo)=U./E 9 33 0,47 ... 0,48
21. | 4 K, (jo)=1_/E 11 35 0,49 ... 0,50
2. | 4 | K, (jw)=U_JE | 8 37 0,51 ... 0,52
23. 4 | Kpljo)=Tg,/E | 10 39 0,53 ... 0,54
2. | 4 | Kypljo)=Uq/E | 7 41 0,55 ... 0,56
25. | 5 | Kyp(j@)=Ug /T | 14 21 0,57 ... 0,58
26. 5 K e (jo)=1g/1 10 23 0,59 ... 0,60
27. | 5 K, (jo)=U_ /I 13 25 0,61 ... 0,62
28. | 5 K, (jo)=1./I 9 27 0,63 ... 0,64




Bup. (Cxewa o emca | QO
29. | 5 Kic(jo)=1./1 12 29 0,65 ... 0,66
30. | 5 | Kyc(jo)=U./I 8 31 0,67 ... 0,68
3. | 5 | Kye(j@)=Ug, /T | 11 33 0,69 ... 0,70
32. | 5 | Kyps(j@)=Ugp /1 | 7 35 0,71 ... 0,72
33. | 6 | Kigljo)=I1/E | 14 37 0,73 ... 0,74
34. | 6 | Kyp(i®)=Uq/E | 10 39 0,75 ... 0,76
35. | 6 | Ke(jo)=I./E | 13 41 0,77 ... 0,78
36. | 6 | K,(jo)=U./E 9 43 0,79 ... 0,80
37. | 6 K, (jo)=1_/E 12 45 0,81 ... 0,82
8. | 6 | K, (jo)=U_/E 8 47 0,83 ... 0,84
39, 6 | Kuljo)=1g,/E | 11 49 0,85 ... 0,86
40. | 6 | K ps(jo)=1/E | 7 51 0,87 ... 0,88
41. | 7 | Kigljo)=1,/E | 14 22 0,89 ... 0,90
42. | 7 | Kyalio)=Ug/E | 10 24 0,91 ...0,92
43. | 7 Kc(jo)=1./E 13 26 0,93 ... 0,94
44. | 7 | Ki(jow)=U.JE | 9 28 0,95 ... 0,96
45. | 7 K, (jo)=1/E 12 30 0,97 ... 0,98
46. 7 | K, (jo)=U_/E 8 32 0,99 ... 1,0
47. | 7 |Kym(j®w)=Ug,/E | 11 34 1,1...1,19
48. 7 | Ky R3(ja)):UR3/E 7 36 1,2 ... 1,29
49. | 8 Kyr (j@)=U/I 14 38 1,3...1,39
50. | 8 | Kipljo)=Tg/T | 10 40 1,4 ... 1,49
s1. | 8 | Ky (jo)=U./T | 13 42 1,5... 1,59
52. | 8 K, (jo)=T1/1 9 44 1,6 ... 1,69
53, 8 Kic(jo)=1./1 12 46 1,7...1,79
54, | 8 | Kycljo)=U,/I 8 48 1,8 ... 1,89
55. | 8 | Kip(jo)=T1a/1 | 11 50 1,9 ... 1,99
56. | 8 | Kip(jo)=lg/1 | 7 52 2,0...2,1




CxeMbl KoJ1€0aTEIbHBIX KOHTYPOB

Cxema 1 Cxema 2
. uRl(t)\L R . Ur1(t) R
i(t) 'R | C I m ' MR
@) t¢ | — iuC(t) Q\D t¢ c L uL(t)
AR AR L0 O T =W
Cxema 4
R © e
— Il -
URl(t) — L
C uc(t) R
= iuc(t) Mey ’ u®
Yic(t) ira(t) i(t)
1
Cxema 5 Cxema 6
i 1ic(t) u(t)
UL(t)\L IIL_(UUC(%::CC — i(t)
u®i(A)IO | R
lCD UR2(t)\L R, Um(t)iu R, |
'Rl(t)_ T URl(t)T ir()Rs | C iuC(t)
ir3(t) Yic(t)
1
Cxema 7 Cxema 8
iri(f) n L(t)
> i (t Jlc iL(t)
UR1(U$ R, UL(t)¢ IIL_( )Uc(%::C 1
e(t) >
URz(t)¢ R, UR3(t)¢|;:| R; ! ml(ﬁ Ir2(t) R3: :C i/uC(t)
Iri(t) IR3(t) Tic(t)

1




